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— wyn 2D 7R3 ML Y1DY
In front of the cattle merchants; it is always “wy»

OVERVIEW

The miwn teaches us that money which is found before cattle merchants (in 2°%w17)
are considered °1¥ w¥» money (and have to be treated as such with all the
applicable restrictions'). The reason is because there is an abundance of wyn myn
brought to 2521 and it was mainly used to buy 2°n%2 n127p, from these cattle
merchants. It is therefore assumed that this found money is wy» Myn. When the
money exchanges hands, the fn72 becomes (°Iw) “wy»n (and can be brought as a
°now J27P as well), and the “wyn nmwn becomes P21 (by the seller). There is a
dispute between *"w7 and Nv0IN why we assume that the found money is wyn nvn
(the buyer lost it) as opposed to 1211 mwn (the seller lost it).

*
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>'"w9 explained; even though we can attribute this money to the seller (which is

not WY money) as much as to the buyer (which is "wy» money); why do we assume
that it is the buyer’s (and therefore 7wy»n) money?

""w1 explains that nevertheless since -
— NN 19290 NPIavN

it is doubtful,> we assume the stricter option; namely that it is 7w¥» money, and all the
restrictions of "wyn apply to it.

moon disagrees:
— 99197 NADOY MYN INYT PHINT RVIYIN TIDT PNHN 129299 NI )N)

And the 5" does not agree to s™"w1 interpretation. There is no equal probability
of the money being either “wyn or 1211. For we append the minority of other

secular money? to the half of the seller’s money* -
—95°NY N2 N MM

!sw 2wyn and food bought with *w wy»n Nwyn may be eaten only in o°Hw1.

2 There is an equal probability of this being the seller’s money (and therefore 1°21) or the buyer’s money (and
therefore 7wyn); in such a case where there are equal probabilities we assume the stricter option.

3 There is a possibility that the buyer is using 127 money (not all buyers use wya mMmy» [especially in the non-
holiday seasons]).

4 The seller’s money is definitely 777; he is not buying any m117p, and the money he receives from the buyers
become 171, for they are redeemed with the purchase of the nnna. See ‘Thinking it over’ # 1.
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And the majority is permissible money (not "wy» money).’

mooin offers his interpretation why it is MWwyn Myn:
SNPY HNN NNNA DY 0271y DTN 232 NNIT N2 NN DINPITT PN 1329 99IN)

And the >''1 maintains that the buyers are a majority (compared to the minority

of one seller) for there are many people waiting to buy one cow.” Presumably the
money was lost by the buyers who are a majority and therefore the money is considered nyn
wyna.

SUMMARY
"7 maintains that it is (an even) pod whether the found money is from the buyer
or the seller; we assume the stricter view and attribute it to the buyer. m»oIn
maintains that the majority of people in the vicinity of cattle merchants are buyers
therefore the majority compels us to consider it wy» nwn. (Otherwise it would not

be an even oY, for there is a minority of buyers who are using 171 money.)

THINKING IT OVER
1. moon argues that we should say 7277 X395% 121 7110.% Perhaps the 12w also has
Twyn nwn; it should remain half-and-half!®

2. When deciding in this case of "wyn myn, whether there is a majority (or not); do
we consider the number of people who represent either possibility!®, or do we
consider the amounts of money!! that represent either possibility?!?

5 There is an equal probability (according to >"wn) that the money belonged either to the seller or the buyer. The
seller’s money is definitely 1211 (which makes it [at least] a 50% probability that it is 1°211), while the buyers money
is not definitely "wyn (for there are some buyers who use 1211 money). There is a definite minority of buyers who
are using 1271 myn. This minority decreases the 50% probability that it is 7wyn Mmyn and increases to more than 50%
the probability that it is 191 nwn (if we assume [as *"w1 does] that there is an equal probability that it came from
either the buyer or the seller). m»oIn question on *"w1 is why do we consider it "wy»n nyn, when (according to *"w")
the 217 is 7" nwn!

6 See the w"X"71 N190IN who writes; 'NAX 7A72 NPT PONNWA KA naT. See there 7wn # 16.

7 At any given moment when a cow is being sold there is only one seller and (presumably) many buyers competing
to buy this cow (or waiting around for the next cow to be put up for sale).

8 See footnote # 4.

% See (TIXM) R"WIN.

19 There are more people who have “Wwy» Mmyn in their possession than there are people who have P2 mva in their
possession.

' The monies that were originally wy» nwn (all) become 121 myn after the purchases. It is just a question at what
time the money was lost, before or after the exchange.

12 See Pxmw 927 and 072K N2
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